4.2 Control of Steady-State Error to Polynomial Inputs: System Type

Errors as a Function of System Type
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Using Eq. (4.33), these results can be summarized by the foll
eguations:
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/ Problem 518 The forward transfer function of a unily feedback
type 1, sceond order system has a pole af—2. The nalure of gain K is
so adjusicd that damping ratio is 0.4, The above cquation is subjected

to inpul r;y = 1 -+ 4 1, Find the steady state error.
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(b) Find the dynamic error using the dynamic crror co-cflicients
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